21

295
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1 2
1 2 3 4
(9) a atl at2 at3
(9) b b+0.5 b+1 b+1.5
C c+10 c+20 c+30
1 2 3
1 2 3
2 U10(3*x 2%
NO: X1 X2 X3 X4 X5
1 1(2) 1(2) 3(7) 2(5) 3(9)
2 1(2) 2(5) 2(4) 3(10) 1(D)
3 2(3) 4(9) 2(3) 1(3) 2(5)
4 2(4) 1(2) 2(5) 1(2) 2(7)
5 2(5) 2(3) 4(10) 3(8) 2(4)
6 3(6) 4(10) 1(2) 2(6) 1(2)
7 3(7) 3(6) 1(D) 2(7) 3(8)
8 3(8) 3(7) 3(8) 3(9) 1(3)
9 4(9) 3(8) 4(9) 1(2) 2(6)
10 4(10) 2(4) 3(6) 2(4) 3(10)
/ 1:1
2.2 3
3
Y(
1 a b c+20 2 3 5.48
2 a b+0.5 c+10 3 1 5.93
3 atl b+1.5 c+10 1 2 6.01
4 atl b c+10 1 2 591
5 atl b+0.5 c+30 3 2 6.58
6 at2 b+1.5 c 2 1 5.47
7 at2 b+1 c 2 3 5.76
8 at2 b+1 c+20 3 1 5.87
9 at3 b+1 c+30 1 2 5.96
10 at+3 b+0.5 c+20 2 3 5.64

2.3

296




F1=0.5

F F2=0.5

Y =1.957095X 5+0.000983X 1 X 2+0.016439X 1 X 5+0.043398X 2 X 5+0.002516X 3X 4+0
127823X 4*+0.014550X 4X 5+0.700865X 5°

4
F
SR 0.9133 f1=8 0.1142 44840
SE 0 fo=1 0
ST 0.9133 9
R=1.0000 S=0.0016
4 F =44840 Fa (0.05)=239
2.4
a+3 b+1.5 C 3 2.125
, at+3 b+1.5 C+10 3
2
25
25.1
at+3 b+1.5 c+10 3
2
25.2
253
254
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31

A B C D E

10
100
10
5
5 10 u* UL
0.3291 0.3331 Uso (10°)
6
5 10
5.8cm?
1.32g/cm® 5mA/cm? 3
10 15
60
80 2 6
5 5 10
1 2 3 4 5 6 7 8 9 10
A(X) | 0 | 004 | 006 | 008 | 010 | 012 | 014 | 016 | 018 | 0.20
B(X) | O | 020 | 030 | 040 | 050 | 0.60 | 0.70 | 0.80 | 0.90 | 1.00
C(Xs) | O | 004 | 006 | 008 | 010 | 0.12 | 0.14 | 0.16 | 0.18 | 0.20
D(X;) | O | 002 | 003 | 0.04 | 0.05 | 0.06 | 0.07 | 0.08 | 0.09 | 0.10
E(Xs) | O | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550
6 Uy (10°)
X1 X2 X3 X4 Xs Y (mg)
1 1(0.00) | 2(0.20) | 4(0.08) | 8(0.08) | 5(3.00) 19.0
2 2(0.04) | 4(0.40) | 8(0.16) | 5(0.05) | 10 (5.50) 25.9
3 3(0.06) | 6(0.60) | 1(0.00) | 2(0.02) | 4(0.50) 24.2
4 4(0.08) | 8(0.80) | 5(0.10) | 10(0.10) | 9(5.00) 20.1
5 5(0.10) | 10(1.00) | 9(0.18) | 7(0.07) | 3(2.00) 17.5
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6(0.12) | 1(0.00) | 2(0.04) | 4(0.04) | 8(4.50) 22.0

7(0.14) | 3(0.30) | 6(0.12) | 1(0.00) | 2(1.50) 19.7

8(0.16) | 5(0.50) | 10(0.20) | 9(0.01) | 7 (4.00) 165

[(o RN NI NENe)]

9(0.18) | 7(0.70) | 3(0.06) | 6(0.06) | 1(0.80) 20.0

10 10(0.20) | 9(0.90) | 7(0.14) | 3(0.03) | 6(3.50) 20.9

3.2

321

Y =21.9084-18.4166 x X, — 45.8403x X, + 0.9955x X,

SSE 27.4446 SSR  46.0514 SST
73.4960 R® 0.6266 S, 2.1387
7
7 1
F

46.0514 f=3 15.3505 3.356

27.4446 f,=6 45741

73.4960 9

a 005 df;=3 df,=10-3-1=6  F Foos(3,6)=4.76

F=3.356<F 0_05(3, 6) =4.76
F

3.2.2

Y =185463— 0.17X, +12.3551X,, + 36.6333X, —112.9120X, X,
—9.5512X 2 —1.4184X X —961.8827X 2 + 0.2146x X

SSE  0.0000 SSR  73.4960 SST
73.4960 R?> 1.0000 S, 0.0010
a) 8
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F
73.4960 f1=8 9.1870 8637537.9718
0.0000 fo=1 0.0000
73.4960 9
a 005 df=8 df,=10-3-1=1 F Foos(8,1)=239
F=8637537.9718>>F ¢05(8,1)=239
F
b)
R? 1.0000
®)
S, 0.0010
323
( ) A
020% B 000% C 020% D 010% E 0.65%
8mg
M
A 020% B 10% C 020% D 010% E 150%
M 10.9mg
9.6mg
25
33
331 M
A 020% B 1.0% C 0.20% DO0.10% E 1.50%
9.6mg 25
332 100

10
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